

J. GANI

On the General Stochastic Epidemic

Publications des séminaires de mathématiques et informatique de Rennes, 1966-1967
« Séminaires de probabilités et statistiques », , exp. n° 5, p. 1-12

http://www.numdam.org/item?id=PSMIR_1966-1967___A5_0

© Département de mathématiques et informatique, université de Rennes,
1966-1967, tous droits réservés.

L'accès aux archives de la série « Publications mathématiques et informatiques de Rennes » implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme
Numérisation de documents anciens mathématiques
<http://www.numdam.org/>

ON THE GENERAL STOCHASTIC EPIDEMIC

J. Gani, Michigan State University and the University of Sheffield

I. Introduction

The purpose of this paper is to survey some recent results obtained in the solution of the model for the general stochastic epidemic, which was originally proposed by Bartlett (1949). Various aspects of the general epidemic, particularly in the stationary state, have previously been considered in detail by Bailey (1953, 1957), Whittle (1955), Foster (1955) and Kendall (1956), among others. Around October 1964, Siskind at University College, London, and I at Michigan State University, Lansing, independently arrived at explicit time-dependent solutions for this model; our complementary results, which differ in various details, have appeared in *Biometrika* (1965; Vol. 52, Parts 3 and 4). What I shall attempt to outline here is an improved method of solution for the general stochastic epidemic; this is, I believe, simpler than any so far proposed, and provides greater insight into the structure of the model. The same approach can also be used to attack recurrent epidemic processes for which a solution has been sketched (cf. Gani, 1965b).

The stochastic epidemic model considered is that for which at time $t \geq 0$, there are in circulation in a closed population of size $n + a$ ($n, a \geq 1$),

$$0 \leq r \leq n \text{ uninfected susceptibles,}$$

$$0 \leq s \leq n + a - r \text{ infectives,}$$

the remaining $n + a - r - s \geq 0$ individuals having been removed through immunity or death. At time $t = 0$, the population is known to consist of n susceptibles and a infectives.

Let the probabilities of possible transitions in the interval $(t, t + \delta t)$ be

$$\Pr \{ r, s \longrightarrow r - 1, s + 1 \} = rs \delta t + O(\delta t),$$

$$\Pr \{ r, s \longrightarrow r, s - 1 \} = \rho s \delta t + O(\delta t),$$

where for convenience the usual infection parameter β is set equal to 1 and ρ denotes the (relative) removal parameter. The process $\{ r, s \}$ is Markovian and the transition probabilities of r susceptibles and s infectives at time $t \geq 0$,

$$P_{rs}(t) = \Pr \{ r, s \text{ at time } t \mid n, a \text{ at time } 0 \}$$

satisfy the equations

(I.1)

$$\frac{dp_{rs}}{dt} = (r+1)(s-1) p_{r+1, s-1} - s(r+\rho) p_{rs} + \rho(s+1) p_{r, s+1}$$

$$(0 \leq s \leq n + a - r; 0 \leq r \leq n),$$

where the $p_{ij} = 0$ if i or j are outside their appropriate ranges.

The initial condition is $p_{na}(0) = 1$.

It is well - known that the associated probability generating function (p.g.f.)

(I.2)

$$\Pi(z, w, t) = \sum_{r, s} p_{rs}(t) z^r w^s \quad (|z|, |w| \leq 1)$$

satisfies the partial differential equation

(I.3)

$$\frac{\partial \Pi}{\partial t} = w(w-z) \frac{\partial^2 \Pi}{\partial z \partial w} + \rho(1-w) \frac{\partial \Pi}{\partial w}$$

with the initial condition $\Pi(z, w, 0) = z^n w^a$.

The essence of both Siskind's and my own methods of solution consists of noting that if we write

(I.4)

$$\Pi(z, w, t) = \sum_{r=0}^n z^r f_r(w, t)$$

where $f_r(w, t) = \sum_{s=0}^{n+a-r} w^s p_{rs}(t)$, then the order of the partial differential equation (I.3) may be reduced to the first. Substituting (I.4) in (I.3) and equating coefficients of z^r on right and left hand sides, we obtain

(I.5)

$$\frac{\partial f_n}{\partial t} = -((n + \rho)w - \rho) \frac{\partial f_n}{\partial w},$$

$$\frac{\partial f_r}{\partial t} = w^2 (r + 1) \frac{\partial f_{r+1}}{\partial w} - ((r + \rho)w - \rho) \frac{\partial f_r}{\partial w}$$

$$(r = 0, 1, \dots, n - 1).$$

At this stage Siskind proceeds by direct recursive integration of the $f_r(w, t)$. My own approach makes use of Laplace transforms

(I.6)

$$F_r(w, s) = \int_0^{\infty} e^{-st} f_r(w, t) dt$$

$$(\operatorname{Re}(s) > 0)$$

to reduce the equations (I.5) to

(I.7)

$$sF_n(w, s) - w^a = -((n + \rho)w - \rho) \frac{\partial F_n}{\partial w},$$

$$sF_r(w, s) = w^2 (r + 1) \frac{\partial F_{r+1}}{\partial w} - ((r + \rho)w - \rho) \frac{\partial F_r}{\partial w}$$

$$(r = 0, \dots, n - 1),$$

From (2.1) it is possible to express all higher derivatives in terms of $F(0,s)$. For, it is seen directly that

$$A(0) F^{(1)}(0,s) = -sF(0,s)$$

or from (2.2), since $A(0) = -\rho I$

(2.4)

$$F^{(1)}(0,s) = \frac{s}{\rho} F(0,s).$$

Differentiating (2.1) with respect to w , we obtain

(2.5)

$$\{ A^{(1)}(w) + sI \} F^{(1)}(w,s) + A(w) F^{(2)}(w,s) = a w^{a-1} E$$

$$(a \geq 1),$$

whence setting $w = 0$,

(2.6)

$$F^{(2)}(0,s) = \frac{1}{\rho} \{ A^{(1)}(0) + sI \} F^{(1)}(0,s) - a! \delta_{1a} E$$

with δ_{ij} as the Kronecker delta, and $A^{(1)}(0)$ the diagonal matrix

$$A^{(1)}(0) = \begin{bmatrix} n + \rho & & & & \\ & n - 1 + \rho & & & \\ & & \dots & & \\ & & & 2\rho & \\ & & & & \rho \end{bmatrix}$$

The next derivative can be found from (2.5) as

$$A^{(2)}(w) F^{(1)}(w,s) + \{ 2A^{(1)}(w) + sI \} F^{(2)}(w,s) + A(w) F^{(3)}(w,s) = a(a-1)w^{a-2} E$$

or, setting $w = 0$

(2.7)

$$F^{(3)}(0,s) = \frac{1}{\rho} \left[\{ 2A^{(1)}(0) + sI \} F^{(2)}(0,s) + A^{(2)}(0) F^{(1)}(0,s) - a! \delta_{2a} E \right],$$

where

$$A^{(2)}(0) = -2 \begin{bmatrix} 0 & & & & \\ & n & 0 & & \\ & & \dots & & \\ & & & 1 & 0 \end{bmatrix}$$

We may show in general that the following $(2n + 2)$ -rowed vectors satisfy the equations

$$(2.8) \quad \begin{pmatrix} F^{(i+1)}(0,s) \\ F^{(i)}(0,s) \end{pmatrix} = \begin{pmatrix} \frac{1}{f} \{ iA^{(1)}(0) + sI \} & \frac{i(i-1)}{2f} A^{(2)}(0) \\ I & 0 \end{pmatrix} \begin{pmatrix} F^{(i)} \\ F^{(i-1)} \end{pmatrix} - \frac{a!}{f} \delta_{ia} \begin{pmatrix} E \\ 0 \end{pmatrix}$$

($i = 0, 1, \dots$),

where $F^{(-1)} \equiv 0$, $F^{(0)} = F(0,s)$. This may be simplified by rewriting the vectors in the form

(2.9)

$$\varphi^{(i+1)}(0,s) = B_i \varphi^{(i)} - \frac{a!}{f} \delta_{ia} E \quad (i = 0, 1, \dots)$$

where E is now a $(2n + 2) \times 1$ column vector.

It follows that for $a \geq 1$, we can write

(2.10)

$$\varphi^{(i)} = \left\{ \prod_{j=0}^{i-1} B_j \right\} \varphi^{(0)} \quad (i = 1, \dots, a),$$

$$\varphi^{(i)} = \left\{ \prod_{j=0}^{i-1} B_j \right\} \varphi^{(0)} - \frac{a!}{f} \left\{ \prod_{j=a+1}^{i-1} B_j \right\} E$$

($i = a+1, \dots, n+a+1$),

where $\prod_{j=a+1}^a B_j$ is defined as I , and the products $\prod_{j=0}^{i-1} B_j = B_{i-1} \dots B_0$, and

$\prod_{j=a+1}^{i-1} B_j = B_{i-1} \dots B_{a+1}$ must be carried out in the particular order indicated.

ted.

Thus, since

(2.11)

$$\sum_{i=0}^{n+a+1} \frac{w^i}{i!} \varphi^{(i)} = \sum_{i=0}^{n+a+1} \frac{w^i}{i!} \begin{pmatrix} F^{(i)} \\ F^{(i-1)} \end{pmatrix} = \begin{pmatrix} F(w, s) \\ \int_0^w F(v, s) dv \end{pmatrix}$$

we obtain that

(2.I2)

$$\begin{bmatrix} F(w,s) \\ \int_0^w F(v,s) dv \end{bmatrix} = \sum_{i=0}^{n+a+1} \frac{w^i}{i!} \left\{ \prod_{j=0}^{i-1} B_j \right\} \varphi^{(0)} - \sum_{i=a+1}^{n+a+1} \frac{w^i}{i!} \frac{a!}{\rho} \left\{ \prod_{j=a+1}^{i-1} B_j \right\} E,$$

where, as above, $\prod_{j=k}^{k-1} B_j$ is defined as 1. The unknown $\varphi^{(0)} = \begin{bmatrix} F(0,s) \\ 0 \end{bmatrix}$ may

be found by equating the first $n+1$ rows of (2.I2) to zero since these are coefficients of w^{n+a+1} , which is a degree higher than that of any of the polynomials in $F(w,s)$.

We see that this gives

$$\left\{ \prod_{j=0}^{n+a} B_j \right\} \begin{bmatrix} F(0,s) \\ 0 \end{bmatrix} - \frac{a!}{\rho} \left\{ \prod_{j=a+1}^{n+a} B_j \right\} E = \begin{bmatrix} 0 \\ F^{(n+a)}(0,s) \end{bmatrix},$$

so that

(2.I3)

$$F(0,s) = \left\{ \prod_{j=0}^{n+a} B_j \right\}^{-1} \begin{bmatrix} \frac{a!}{\rho} \left\{ \prod_{j=a+1}^{n+a} B_j \right\} E \end{bmatrix}$$

where $\left[\cdot \right]_{n+1}$ indicates the truncated $(n+1) \times (n+1)$ matrix of the first $n+1$ rows and columns. It is clear that

$$\left\{ \prod_{j=0}^{n+a} B_j \right\}_{n+1}$$

is non-singular, since from the structure of $A^{(1)}(0)$, $A^{(2)}(0)$ this product is seen to be a triangular matrix with non-zero eigenvalues for $\text{Re}(s) > 0$.

3. An illustration of the method : the 2-person family

Let $a = 1$, $n = 1$; then

$$(3.1) \quad A^{(1)}_{(0)} = \begin{bmatrix} 1 + \rho & 0 \\ 0 & \rho \end{bmatrix}, \quad A^{(2)}_{(0)} = \begin{bmatrix} 0 & 0 \\ -2 & 0 \end{bmatrix}.$$

The matrices B_i are readily seen to be

$$(3.2) \quad B_0 = \begin{bmatrix} \frac{s}{\rho} & 0 & 0 & 0 \\ 0 & \frac{s}{\rho} & 0 & 0 \\ 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \end{bmatrix}, \quad B_1 = \begin{bmatrix} \frac{1+\rho+s}{\rho} & 0 & 0 & 0 \\ 0 & \frac{\rho+s}{\rho} & 0 & 0 \\ 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \end{bmatrix}, \quad B_2 = \begin{bmatrix} \frac{2(1+\rho)+s}{\rho} & 0 & 0 & 0 \\ 0 & \frac{2\rho+s}{\rho} & \frac{-2}{\rho} & 0 \\ 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \end{bmatrix},$$

and the required products $B_1 B_0$ and $B_2 B_1 B_0$ are therefore

$$(3.3) \quad B_1 B_0 = \begin{bmatrix} \frac{s(1+\rho+s)}{\rho^2} & 0 & 0 & 0 \\ 0 & \frac{s(\rho+s)}{\rho^2} & 0 & 0 \\ \frac{s}{\rho} & 0 & 0 & 0 \\ 0 & \frac{s}{\rho} & 0 & 0 \end{bmatrix}, \quad B_2 B_1 B_0 = \begin{bmatrix} \frac{s(1+\rho+s)(2+2\rho+s)}{\rho^3} & 0 & 0 & 0 \\ -\frac{2s}{\rho^2} & \frac{s(\rho+s)(2\rho+s)}{\rho^3} & 0 & 0 \\ \frac{s(1+\rho+s)}{\rho^2} & 0 & 0 & 0 \\ 0 & \frac{s(\rho+s)}{\rho^2} & 0 & 0 \end{bmatrix}.$$

Following the theory outlined in the previous section exactly,

we find that

$$(3.4) \quad F(0, s) = \left[B_2 B_1 B_0 \right]^{-1} \begin{bmatrix} 1 & B_2 \\ \rho & \end{bmatrix} E$$

$$= \frac{\rho^6}{s^2 (1+\rho+s) (2+2\rho+s) (\rho+s) (2\rho+s)} \begin{bmatrix} \frac{s(\rho+s)(2\rho+s)}{\rho^3} & 0 \\ 0 & \frac{2s}{\rho^2} & \frac{s(1+\rho+s)(2+2\rho+s)}{\rho^3} \end{bmatrix} \begin{bmatrix} \frac{2(1+\rho)+s}{\rho^2} \\ 0 \end{bmatrix}$$

$$F(0,s) = \begin{bmatrix} \frac{\rho}{s(1+\rho+s)} \\ \frac{2\rho^2}{s(\rho+s)(2\rho+s)(1+\rho+s)} \end{bmatrix} .$$

The full solution to the 2-person epidemic may then be obtained by taking only the appropriate parts of the upper left (2 X 2) matrix in $\{ I + wB_0 + \frac{w^2}{2!} B_1 B_0 \} \varphi^{(0)}$, and for simplicity (instead of carrying out in detail the algebra involved in the right hand part of Equation (2.12)) deleting any terms in powers of w which are known not to appear in any $F_r(w,s)$.

Hence we find that

$$F(w,s) = \begin{bmatrix} 1 + \frac{ws}{\rho} & 0 \\ 0 & 1 + \frac{ws}{\rho} + \frac{w^2 s(\rho+s)}{2! \rho^2} \end{bmatrix} \begin{bmatrix} \frac{\rho}{s(1+\rho+s)} \\ \frac{2\rho^2}{s(\rho+s)(2\rho+s)(1+\rho+s)} \end{bmatrix}$$

This method has been successfully applied to higher values of n and a by J. Moreno of Michigan State University.

4. Total size of the epidemic

One of the advantages of the previous analysis of the epidemic process is the simplicity of the resulting formulæ for the distribution of the total size of the epidemic. These have already been discussed in several different (algebraically complex) ways by Bailey (1953), Whittle (1955), Foster (1955) and Siskind (1965).

Consider the probabilities $\{ P_{n-r} \}$ of an epidemic of total size n-r, not counting the initial cases ; $0 \leq r \leq n$ will then be the number of susceptibles remaining after the epidemic is over. It is clear that

$$(4.I) \quad P_{n-r} = \lim_{t \rightarrow \infty} p_{r0}(t) \\ = \lim_{s \rightarrow 0} sF_r(0,s).$$

In matrix terms

(4.2)

$$P = \begin{bmatrix} P_0 \\ \cdot \\ \cdot \\ P_n \end{bmatrix} = \lim_{s \rightarrow 0} s \begin{bmatrix} F_n(0,s) \\ \cdot \\ \cdot \\ F_0(0,s) \end{bmatrix} = \lim_{s \rightarrow 0} sF(0,s).$$

We have seen in (2.13) that

(4.3)

$$\left\{ \prod_{j=0}^{n+a} B_j \right\}_{n+1} F(0,s) = \frac{a!}{\rho} \left\{ \prod_{j=a+1}^{n+a} B_j \right\}_{n+1} E,$$

and since

$$B_0 = \begin{bmatrix} \frac{s}{\rho} I & 0 \\ I & 0 \end{bmatrix},$$

we may write (4.3) as

(4.4)

$$\left\{ \prod_{j=1}^{n+a} B_j \right\}_{n+1} sF(0,s) = a! \left\{ \prod_{j=a+1}^{n+a} B_j \right\}_{n+1} E.$$

It is readily found by taking limits as $s \rightarrow 0$ that this leads to

(4.5)

$$a! \left\{ \prod_{j=2+1}^{n+a} \begin{bmatrix} \frac{j}{\rho} A^{(1)}(0) & \frac{j(j-1)}{2\rho} A^{(2)}(0) \\ I & 0 \end{bmatrix} \right\}_{n+1} \lim_{s \rightarrow 0} sF(0,s) =$$

from which the vector P of probabilities of total epidemic size

can be expressed as

$$(4.6) \quad P = a I \left\{ \begin{array}{l} \prod_{j=1}^{n+a} \left[\begin{array}{cc} \frac{j}{\rho} A^{(1)}(0) & \frac{j(j-1)}{2\rho} A^{(2)}(0) \\ I & 0 \end{array} \right] \end{array} \right\} \begin{array}{l} -1 \\ X \\ n+1 \end{array}$$

$$\left\{ \begin{array}{l} \prod_{j=a+1}^{n+a} \left[\begin{array}{cc} \frac{j}{\rho} A^{(1)}(0) & \frac{j(j-1)}{2\rho} A^{(2)}(0) \\ I & 0 \end{array} \right] \end{array} \right\} \begin{array}{l} E \\ n+1 \end{array}$$

This result involves only a set of direct matrix operations.

It is clear, as it was earlier at the end of Section 2, that

$$\left\{ \prod_{j=1}^{n+a} \left[\begin{array}{cc} \frac{j}{\rho} A^{(1)}(0) & \frac{j(j-1)}{2\rho} A^{(2)}(0) \\ I & 0 \end{array} \right] \right\}_{n+1}$$

is non-singular, since this product results in a triangular matrix with non-zero eigenvalues.

In the case of the 2-person epidemic, for example, we readily obtain from (4.6) the known result (cf. Bailey, 1957)

$$P = \left\{ \begin{array}{cccc} \frac{2}{\rho} (1+\rho) & 0 & 0 & 0 \\ 0 & 2 & -\frac{2}{\rho} & 0 \\ 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \end{array} \right\} \left\{ \begin{array}{cccc} \frac{1}{\rho} (1+\rho) & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 1 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \end{array} \right\}^{-1} \begin{array}{l} \frac{2}{\rho} (1+\rho) \\ 0 \end{array}$$

$$= \begin{array}{l} \left[\begin{array}{cc} \frac{2}{\rho} (1+\rho)^2 & 0 \\ -\frac{2}{\rho} & 2 \end{array} \right]^{-1} \left[\begin{array}{c} \frac{2}{\rho} (1+\rho) \\ 0 \end{array} \right] = \left[\begin{array}{cc} \frac{\rho^2}{2(1+\rho)^2} & 0 \\ \frac{\rho}{2(1+\rho)^2} & \frac{1}{2} \end{array} \right] \left[\begin{array}{c} \frac{2}{\rho} (1+\rho) \\ 0 \end{array} \right] \\ = \left[\begin{array}{c} \frac{\rho}{1+\rho} \\ \frac{1}{1+\rho} \end{array} \right]$$

The simplicity of the equation (4.6) for P , provides a straight forward method for the numerical evaluation of probabilities of total epidemic size for large n and a , given any suitable numerical values of ρ .

5. References

- BAILEY, N.T.J. (1953) The total size of a general stochastic epidemic. Biometrika 40, 177-185.
- BAILEY, N.T.J. (1957) The mathematical theory of epidemics. Griffin, London.
- BARTLETT, M.S. (1949) Some evolutionary stochastic processes. J.R. Statist. Soc. B II, 211-229.
- FOSTER, F.G. (1955) A note on Bailey's and Whittle's treatment of a general stochastic epidemic. Biometrika 42, 123-125.
- GANI, J. (1965a) On a partial differential equation of epidemic theory. I. Biometrika 52.
- GANI, J. (1965b) On a partial differential equation of epidemic theory II. The model with immigration. Office of Naval Research Technical Report RM-124 at Michigan State University.
- KENDALL, D. G. (1956) Deterministic and stochastic epidemics in closed populations. Proc. 3rd Berkeley Symp. on Math. Statist. and Prob. 4, 149-165. U. of California, Berkeley.
- SISKIND, V. (1965) A solution of the general stochastic epidemic. Biometrika 52.
- WHITTLE, P. (1955) The outcome of a stochastic epidemic - A note on Bailey's paper. Biometrika 42, 116-122.
-